

H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP) For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society)

District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No.	954	Dated: 31 08 2023
То		하는 것이 되는 그는 그들이 있는 이 경기를 가입니다. 그는 이 이렇게 되었다는 것은 사람이 되었다는 것이 되었다는 것이 되었다는 것이다. 사람들은 사람들은 사람들은 이 사람들이 되었다는 것이 되었다는 것이 되었다는 것이 되었다는 것이 되었다는 것이다.
		Shri Yogesh kumar R/O kodewala PO Haripur khol Teh. Nahan Distt. Sirmaur (HP)
100	ect:- r Sir,	Maintenance of Plt award of Work thereof (Job No N-5/Maint./3 rd Yr /DLT /23-24)
for t	ntenance of the contract opted by us.	This is to notify you that quotation dated 25-08-2023 for execution of the f plantation 3 rd year DLT Job No N-5/Maint./3 rd Yr /DLT /23-24 for the year 2023-24 price of Rupees 307063/-(Three Lakh Seven Thousand and sixty three only), is hereby
thar	· \	You are also requested to sign the agreement form and proceed with the work not later der the instruction of the Project staff, APO Nahan and ensure its completion within the
Secu	W rity, the co	ith the issuance of this acceptance letter and your furnishing the required Performance ntract, for the above said work, stands concluded.
		Oma
		District Project Officer (IDP). Sirmaur at Nahan
Ends	t.No.DPO/I	NHN/ Dated, Nahan the/
in st	ipulated pe ractor duly	Copy forwarded to APO Nahan for favour of information and N/action. He is directed we site for subject cited work to the contractor and get the work started/completed with criod under intimation to this office. Please note that detail of labour engaged by the verified by the work in charge, date of start /completion of work, date of measurement be mention / enclosed with the bill of work.
		District Project Officer (IDP)

Sirmour at Nahan.

Schedule of quantity for Maintenance of plantation under APO Nahan Job No N-5 / Maint./23-24

Sr.No	Particulars of work	Unit	Qty	Approved Rate	Amount
1.	Re-digging of pits size 45x4 5x45 cms.	NO.	3890	13.50	52515.00
2.	Filling of pits 45x45x45cms	NO.	3890	7.00	27230.00
3.	Planting of plants raised in P/Bags	NO.	3890	6.50	The state of the s
4.	Carriage of plants in polythene bags from Pilhori Nursery to road side lead 100Mtr by manual labour uphill side.	NO./KM	1240	4.00	25285.00 496.00
5.	Carriage of plants in p/bags from pilhori road side to plantation area road side by mechanical transport including loading/unloading.	TRIP	2	4000.00	8000.00
	Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1 Km by manual labour.	NO/KM	3890	12.40	48236.00
7.	Supply of fence post.	NO.	137	350.00	24250.00
3.	Prep. Of fence post and digging of holes.	NO.		250.00	34250.00
).	Fixing of fence post.	NO.	137	25.00	3425.00
	Repair of B/wire.		137	20.00	2740.00
1.	Supply of P/Bags plants .	Rmtrs	6061	5.50	33336.00
	, Be plantes	NO.	2650	27.00	71550.00
					307063.00

Sirmour at Nahan



H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP) For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 93	Dated: 31/08/2023
To	
	Shri Khushal kumar R/O Ambwala PO Sainwala Teh. Nahan Distt. Sirmaur (HP)
Subject:- Dear Sir,	Maintenance of Plt award of Work thereof (Job No N-6/Maint./3 rd Yr /DLT /23-24)
maintenance for the contr hereby accep	This is to notify you that quotation dated 25-08-2023 for execution of the of plantation 3 rd year DLT Job No N-6/Maint./3 rd Yr/DLT/23-24 for the year 2023-24 ract price of Rupees 37798/-(Thirty Seven Thousand seven Hundred ninety eight) only, is otted by us.
than 2 days contract per	You are also requested to sign the agreement form and proceed with the work not late under the instruction of the Project staff, APO Nahan and ensure its completion within the iod.
Security, the	With the issuance of this acceptance letter and your furnishing the required Performance contract, for the above said work, stands concluded.
	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO	/NHN/ Dated, Nahan the/
contractor dul	Copy forwarded to APO Nahan for favour of information and N/action. He is directed now site for subject cited work to the contractor and get the work started/completed with period under intimation to this office. Please note that detail of labour engaged by the y verified by the work in charge, date of start /completion of work, date of measurement d be mention / enclosed with the bill of work.
	District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of plantation under APO Nahan Job No N-6 / Maint./23-24

Sr.No	Particulars of work	Unit	Qty	Approved Rate	Amount
1.	Re-digging of pits size 45x4 5x45 cms.	NO.	400	15.00	6000.00
2.	Filling of pits 45x45x45cms	NO.	400	9.00	3600.00
3.	Planting of plants raised in P/Bags	NO.	400	10.00	4000.00
6.	Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1 Km by manual labour.	NO/KM	400	10.00	4000.00
7.	Supply of fence post.	NO.	30	210.00	6300.00
8.	Prep. Of fence post and digging of holes.	NO.	30		6300.00
9.	Fixing of fence post.	NO.		21.17	635.00
	Repair of B/wire.		30	18.70	561.00
11.	Supply of P/Bags plants.	Rmtrs	581	4.19	2434.00
	oupply of 17 bags plants.	NO.	400	25.67	10268.00
					37798.00

Sirmour at Nahan



H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 950	Dated: 31/08/2023
То	
	Shri Khushal kumar R/O Ambwala PO Sainwala Teh. Nahan Distt. Sirmaur (HP)
Subject:- Dear Sir,	Maintenance of Plt award of Work thereof (Job No N-7/Maint./3 rd Yr /DLT /23-24)
the contract pris hereby acce	You are also requested to sign the agreement form and proceed with the work not later nder the instruction of the Project staff, APO Nahan and ensure its completion within the
V Security, the co	Vith the issuance of this acceptance letter and your furnishing the required Performance ontract, for the above said work, stands concluded.
	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO/	NHN/ Dated, Nahan the/
contractor duly	Copy forwarded to APO Nahan for favour of information and N/action. He is directed ow site for subject cited work to the contractor and get the work started/completed with eriod under intimation to this office. Please note that detail of labour engaged by the verified by the work in charge, date of start /completion of work, date of measurement be mention / enclosed with the bill of work.
	District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of plantation under APO Nahan Job No N-7 / Maint./23-24

Sr.No	Particulars of work	Unit	Qty	Approved Rate	Amount
1.	Re-digging of pits size 45x4 5x45 cms.	NO.	1570	15.00	23550.00
2.	Filling of pits 45x45x45cms	NO.	1570	9.00	
3.	Planting of plants raised in P/Bags	NO.	1570	10.00	14130.00 15700.00
4.	Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1 Km by manual labour.	NO/KM	1570	7.63	11979.00
5.	Supply of fence post.	NO.	52	210.00	10020.00
6.	Prep. Of fence post and digging of holes.	NO.	52	21.17	10920.00
7.	Fixing of fence post.	NO.	52	18.70	972.00
8.	Repair of B/wire.	Rmtrs	759	4.19	3180.00
9.	Supply of P/Bags plants.	NO.	1570	25.67	40302.00
			Total		121834.00

Sirmour at Nahan